4SF13407 B 248 (X ER)

R RENFEHIS (A15) 2B B #H

Frx EISEHAE: 2455 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 7,045
dtiEE 6,895 1,740 5,155 10 918 864 1,080 680
LS 150 0 150 10 972 864
130340 [/ £ICA LA 3 18,710
LS 14,000 0 14,000 10 - - - 1,566 1,080
EE 260 0 260 10 540 162
G 4,000 0 4,000 10 1,188 648
130400 [Z (S5 3 1,060
HE 260 0 260 10 - - - 3,780
130600 [NACA a3 862
32 862 61 801 1 1, 404 864 1,512 432
131100 [A 3 a3 20,385
£ 20,385 9,075 11,310 15 1,188 648 1,188 648
131700 [Fr Y 3 46,300
R 1,500 1,080 420 15 1,048 1,048
HE 31,600 16,000 15,600 10 124 378 864 378
K& 13,200 3,020 10,180 10 1,134 432 1,134 432
131800 | [F5NAE 3 1,071
£ 50 0 50 5 4,320
Iz B 648 7 641 3.6 3. 024 3,629 2,808
£E 286 286 of o2 211 140
1B 45 0 45| 45 2,700
131910 [FH=F % 3,692
N 94 3 91 0.5 302 702 292
£E 5 0 5/ 05 270
i L 360 0 360 1 756 324
0 1,773 25 1,748 5 1,350 2,700 540
iR 1,420 40 1,380 5 2,700 1,890 2,700 2,160
131950 |4 % 4,695
B 2,050 709 1,341 3 1, 404 1,404 918
fE 305 0 305 5 626
133400 [L B R a3 18,900
£ 18,900 10,250 8,650 10 1, 620 156 1,728 756
134100 [#A)1 3 18,573
dtiEE 750 0 750 5 1,512 1,242




4SF13407 B 248 (X ER)

R RENFEHIS (A15) 2B B #H

Frx ENFEHAE 2455 kY
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
Lz 935 0 935 5 1,188 756
== 2,300 1,055 1,245 5 1,318 864 1,512 756
£E 1,158 539 619 10 1,620 972 1,620 972
®me 205 50 155 5 1,242 648 540
F 2,265 50 2,215 5 1,296 1,674 540
ZIE 7,520 2,100 5,420 5 1, 620 864 1,620 486
134200 |F 1 ¥ 3,990
RI& 3,990 10 3,980 10 1,728 1,728 324
134300 | Al F ¥ 10,619
N 140 8 132 4 1,620 2,160 864
£E 345 305 40 5 1,728 540 1,566 1,404
=R 545 545 0 5 1,728 432
®me 3,039 250 2,789 5 Z, 052 1,728 2,160 864
iR 2,385 264 2,121 04 108 76 108 65
134400 |F<+ ¥ 8,927
dtiEE 1,744 0 1,744 4 1,566 864
FIE 50 0 50 05 227
Is; BB 4,608 704 3,904 4 1,512 1,080 1,620 756
£E 900 0 900 1 270 227
®me 1,092 0 1,092 4 1,080 432
IR 320 0 320 4 1,296 972
134500 [E—<> 3 13,425
EE 1,761 199 1562 0.15 76 54 32
iR 320 0 320 o0.15 38 22
134700 [&5HACL ¥ 7,020
K% 4,180 890 3,290 10 3. 240 1. 663 3,499 2,052
50 155 0 155 5 907 778
EE 510 0 510 10 972 778
32 825 0 825 5 1,220 680
135100 [LNAVIF A 3 148
dtiEE 118 20 98 Z Z 916 Z 484 2,916 1,944
a4 20 6 14 2 1,836 1,836
FFL 10 0 10 2 432 324
135500 [ -2 a3 690
Iz & 648 0 648| 0.18 - - - 162 81
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PR REFETS (KI5) BEB#HK
#3407 B 248 (X#EA)

Frx EISEHAE: 2455 b+
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
£EE 42 0 42 045 378 302
136100 [MAL & 3 18,645
32 4,795 385 4410 5 Z 484 1, 404 2,268 810
= I 2,880 245 2,635 5 1,393 1,350 2,052 972
136200 | 5% ¥ 530
dtiEE 300 0 300 10 - - - 994
136210 | A—9 1> % 3,480
F 1,870 0 1,870 10 1,350 1,210
EE 1,010 980 30 10 1, 458 410 1,458
RiF 600 0 600 10 842 734
136300 | BB ¥ ¥ 450
=% 210 0 210 5 - - - 2,970 1,944
BR 40 0 40 2 1,188 756
BE 200 0 200 10 1,728
136600 |f=F1a= % 6,460
dtiEE 3,440 3,440 o]l 20 Z. 090
£E 3,020 2,710 310 20 3,197 2,538
138100 [ LU =1F “ 3,622
£E 308 115 193 02 113 81 216 65
mE 2,603 10 2593 0.1 173 119 184 27
138500 [LSHLE ¥ 2,546
a4 2,538 782 1,756] 0.2 49 21 52 17
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4SF13407 B 248 (X ER)

R RENFEHIS (A15) 2B B #H

= ENFERHME 449
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
240110 [/ \NDRH A # 634
= I 400 400 0 5 3. 348 2,592
242320 (33 —ILk % 4,930
= 4,930 1,590 3,340 10 3. 780 3. 240 3,780 1,620
242830 [ S\CYAC ¥ 3,010
5 3,010 390 2,620 10 4,104 3,240 4104 2,376
243120 |ZEKAL ¥ 1,510
EE 910 910 0 10 3. 996 3,024
244200 [FAEBHD ¥ 2,990
ITEY] 1,811 370 1441 0.4 346 270 432 270
A 988 440 548 4 3,780 3,240 3,780
E 175 140 35 35 2,376 2,160 3,240
244430 |EHh AR5 ¥ 140
£% 140 118 22 0.7 432 432
244530 |9 H% ¥ 1,020
% 440 44 396 0.5 302 302 270
FEL 428 428 0 0.5 270 238
= 152 133 8] 04 270 248 302
245220 | T2V T SED % 1,140
2 524 137 388 2 1,944 1,836 2,160 1,944
NI 616 84 532 0.3 313 270 346 194
245230 [BIESRES 3 420
50 24 0 24| 03 324
=i 396 286 110[ 0.35 474
245240 [EA—HES ¥ 627
AL 496 254 242 5 8. 100 3. 240 11,880 7,344
E 55 55 0 5 9,720
247100 |[7—JLR A a3 570
E4 0 400 289 111 8.5 10, 800 4, 860 15,120 5,940
=50 136 0 136 8 4,860 2,376
= 34 34 0 8.5 3,564 2,160
248300 [ g LA 3 27,583
Al 9,120 2,528 6,592 16 4,104 2,700 4,104 1,944
K% 9,568 1,968 7,600 16 4, 360 4,104 4,860 3,456
50 4,350 0 4,350 15 2,916 972
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PR REFETS (KI5) BEB#HK
#3407 B 248 (X#EA)

R= ESEafE: 449 b
(M IEHEREFESD)
mf mf EEH EN5EE = (ke) R U5 fAxER S|
AH )58 B %t Bfike) | S1EME) i {E(A) ZE([) =iE(M) f{E(A) ZE(M)
EE 4,545 2,115 2,430 15 3,780 1,944 3,240 1,188
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SFI34E07 A 241 (HHER)

F A R RS T S (AE5) BHE H

R EIbng e = 20.8 %
(S I E B B )
4, . EN7EH (kg o wh5E RIS
2 4 — — filik HLAL - — — — —
AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)

101 | RERT=\ 444 121 323 Kg |5z 1,296 648] e 1,620 216
102 |[ZHEIZW 2,106 2,106 Kg g 2,916 315
111 [ ED 387 20 367 Kg |&fE 540 108| =0 Koy 1,296 216
113 [ RROLD 43 5 38 Kg | 1,080 frJE 2,700 972
114 |5 -H 149 149 Kg HEE[E] 2,484 2,000
115 [z 52 52 Kg frJE 3,240 648
117 [i3s 1,984 420 1,564 Ke [#EE 1,512 216 | fejE 3,622 108
121 [oixx 10 5 5] Keg [fmiE 540 Fof 648 324
134 [7=Z 611 363 248 Kg | 1,944 N EN 1,620 864
140 |DIT 37 37 Kg frJE 75,600 13,500
147 [EX O 87 87 Kg [FmjiE 6,803 220 - T 10,800 3,500
158 | A LD 1,009 41 968 Kg [|ERE 810 ) 2,052 756
201 [wbL 440 440 Kg 5 e 648 200
203 [T 108 108 Kg Gl 351 189
206 [=iX 705 705 Kg A 821 201
207 |SAE 28 28 Kg AbyiE 899 594
208 [7oB 1,063 1,063]  Kg ] 1,404 57
209 [T Do 330 330 Kg AN 778 540
210 [iIFA v 272 272 Kg [|EIR 3,780 1,755

212 [#HES 135 135 Kg JEE R B - 2,052 650
222 [OBT 222 222 Kg B 216 162
251 [KAELA 1,042 1,042 Kg o 5,994 1,901
252 [WAEESA 264 194 70 Kg |mi57 3,672 2,484 77 783

254  |[&HIEESAH 5,193 5,193 Kg 7 2,732 994
303 [HAZEW 67 67 Kg A 648 527
305 [FE4nok 39 39 Kg EJII 3,240 2,484
314 |igh 1,000 1,000 Kg frJE 3,000 300
315 |7=H9%8 275 265 10 Kg [E=k 1,296 1,037[ =% 1,728 1,404
319 [&Hh5 861 861 Kg AR = H 1,512 400
332 |1 EA BPE 437 437 Kg E|RES 1,566 1,404
354 [1xFESD 60 10 50 Kg [T 1,188 T2 1,404 945
355 |V 230 230 Kg HEA « 20 1,188 432
356 [LUA 165 165 Kg FSEL 1,728 324
357 |RHE 18 6 12 Kg [#[E 1,350 HEE[E] 1,728 1,404
358 [KxH 30 15 15 Kg [ 1,188 R 1,404 1,188
401 | 110 110 Kg ) 1,350 756
402 |H7pE 772 772 Kg R 4,752 500




PO T FR YL ISR T (AN Y) B H
SFI3E07 A 241 (HHEH)

R EIbng e = 3.4 %
(S I E B B )

0 EN7EH (kg wh5E ERSENE]
o i L i o —— — - T -

AH wY5E RIS PEH AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
507 |2—/LU ) 20 20 Kg TR 680
512 |@wEoun 240 240 Kg B|&ES 950 850
523 | BT 2O 500 500 Kg FE T 2,460 972
554 |&iE WA i 20 20 Kg BIRES 650
558 |FRfa 376 376 Kg Jbre 950 594
560 |WmE7-Z 56 56 Kg i 1,950 1,400
566  [#HERDNT 26 26 Kg E[RES 3,672 3,400
576  [ERSS 140 140  Kg ERERNE 2,052 750
581 |WEITVE 2,000 2,000 Kg BRERNE 524




SFI34E07 A 241 (HHER)

F A R RS T S (AE5) BHE H

AT TR R 124 kv
(S I E B B )

0 Fe sk BY5E H%
:Stﬁ* 5 izl iﬁl (kg) _ e B \ _ 7 _ j TS| _

AH H05E RIS FEM e ED | HE ()| Z2 i) PEH EAE(ED) | FED | ZE)
701 |[BVDHA 10,428 8,496 1,932 Kg | 2,160 647| e 972 864
710 |95 HIF 52 52 Kg Koy 702 675
713 [LL=sbiLT 10 10 Kg ] 1,134
751 |E i 9 9 Kg Lo 780
755 |BA®HL 277 277 Kg E[REE 748 637
761 [BodAEE 138 12 126 Kg |&fE 1,311 1,246 | £ - Fisk (L 1,548 900
768 |&E-Z 5 5 Kg FE T 2,360
801 [HEfALxiT 510 510 Kg FE T 1,368 756
802 [HEX1T 20 20 Kg JeviEE 918 810
805 [HXIT 896 896 Kg E[REE 821 367
807 [Hikko 1 6 6 Kg EIRES 3,456
810 [B K+ 63 63 Kg E[REE 5,400 1,512




